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1. This Question Booklet contains 100 questions with weightage of
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1 mark for each question.

. Before attempting the question paper, kindly check that this booklet

has total 24 pages and OMR Answer Sheets are in triplicate. At
the start of the examination within first five minutes, candidates
are advised to ensure that all pages of Question Booklet and OMR
Answer Sheets are properly printed and Question Booklet is not
damaged in any manner.

. The OMR Answer Sheet consists of three copies, the original copy, the

commission copy and the candidate’s copy. Do not separate or displace
them. Do not darken the bubbles in three copies of OMR Answer Sheets
separately. Candidate must hand over the OMR Answer Sheet without
separating the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate’s copy after separating it. The
candidates are allowed to take away this Question Booklet with them.

. Please ensure that the Question Booklet Number and OMR Answer

Sheet Serial No. match with each other. In case of any discrepancy,
the candidate should immediately report the matter to the invigilator
for replacement of Question Booklet and OMR Answer Sheet. No
claim in this regard will be entertained after five minutes of start of
examination.

. Allthe necessary particulars on the OMR Answer Sheet should be

filled carefully. Change of OMR Answer Sheet is not permitted.

. Do not forget to write Roll Number on the top of this Question

Booklet and OMR Answer Sheet. Do not tear or fold any page of
the Question Booklet and OMR Answer Sheet.

. Candidate has to fill one option compulsory out of five options

given. If a candidate does not know the answer, then he/she has
to fill the 51 option (option ). Extra five minutes will be given to
mark 5 option, No marks will awarded against the 5t option as it
indicates that the candidate as not attempted that question.
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8. There shall be no negative marking for a wrong option having been

filled. In case a candidate does not wish to attempt a question,
he/she will need to fill in the fifth option/bubble in the OMR Answer
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Which figure will come in the place of

question mark (?) ?

RPREIRE
w | 2 ®)
© | (D)

(E) Not attempted

R

ol

Which of the following is not correctly
matched ?
(A) 1 GB=1024 MB

(B) 1 TB=1024 GB
(C) 1YB=1024 GB
(D) 1 EB=1024 PB
(E) Not attempted

Who was the founder of the Satavahana
dynasty ?

(A) Simuka

(B
(C
(D
(E

Gautamiputra Satakarni
Vashishtaputra Pulamayi
Hala

)
)
)
) Not attempted

If S denotes x, P denotes —, R denotes +
and Q denotes +, then
14641Q121P100S2R100 = ?

(A) 48 (B) 31

(C) 61 (D) 21

(E) Not attempted
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W Torg (?) % T W RA-Tf TR
HARAf 7

Al Lb ] 2
w | 2 ® | o
© | (D>\®

(E) 3mwanfEa

Fraforfaa & @ sF-ar @ gofera 78 & 7
(A) 1 GB = 1024 MB
(B) 1 TB=1024 GB
(C) 1YB=1024 GB
(D) 1 EB=1024 PB
(E) 3=t

HTdeTed TSI T TR T AT ?
(A) fomH

(B) Tiatig FTaehvft
(C) af¥rsay gt
(D) BT
(E) STwmfEa
If¢ S, x I AT 7, P, — <! QU &,
R, + oI ST & AAT Q, + I gIaT 7,
14641Q121P100S2R100 = ?

(A) 48 (B) 31
(C) 61 (D) 21

(E) 3=nfEa



B

5.

Which figure given in the alternatives will
complete the pattern in the figure given in
question ?

?

(A) (B)

]

(©) (D)

(E) Not attempted

Consider the following statements related
to Deccan Plateau :

Statement 1 : This is bordered by the
Western Ghats in the east and Eastern
Ghats in the west.

Statement 2 : Western Ghats are
comparatively higher in elevation and
more continuous than the Eastern Ghats.
Which of the statements given above
is/are correct ?

(A) Only statement 1 is correct

(B) Both statements 1 and 2 are correct

(
(D
(E

)
)
C) Only statement 2 is correct
) Both statements 1 and 2 are incorrect
)

Not attempted
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5. W H € T 3Mq % Fed I ferehedt |
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?
(A (®) Yl
(C) (D)
(E) 3m=nfEa
TR & Y3R Y Fefq fyefeiaa el
T fomm Fifse :

FUA1: T8 qd | ufeaH =re IR ufyeaw o
ooff ame & o 2

HUA 2 : Y T1e 6 gorr § ufvedt =
3Tk FamE W 2 3R ek TR 2 |
I § | HIA-T1/T HeH & 8/8 ?
(A) el U 1 TE B

(B) A 1 3 2 I Tl &

(C) *harel A 2 TE B

(D) eH 1 3R 2 gHT Tl & &

(E) ITomfra



10.

The Headquarter of Haryana State
Industrial and Infrastructure Development
Corporation (HSIIDC) is located in

(B) Panchkula

(D) Chandigarh

(A) Gurugram
(C) Faridabad
(E) Not attempted

A series is given, with one term is missing.
Choose the correct alternative from the
given ones that will complete the series.

14,14, 28, 84, 336, x

(A) 1682 (B) 1344
(C) 2016 (D) 1680
(E) Not attempted

The concentric circles on the platter of
hard disk are known as

(A) tracks
(C) sectors
(E) Not attempted

(B) circles
(D) none of the above

Find the correct mirror image.

) Not attempted

Xy
-4

10.
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TorehT PR (T, TE. 37637 SLHT.)
o™ HfRER
(A) eI (B) ket
(C) wilgrETg (D) =rgiTg
(E) ITvfra
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14, 14, 28, 84, 336, x
(A) 1682 (B) 1344
(C) 2016 (D) 1680
(E) ITvmfra
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(A) (B) wehet
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11.

12.

13.

14.

15.

Which of the following is the smallest
negative integer ?
(A) =2

(C) o

(E) Not attempted

The first jute mill was set up near Kolkata

at Rishra in
(A) 1855 (B) 1854
(C) 1856 (D) 1857

(E) Not attempted

What is the value of sin 90° x cos 0° ?

(A) O (B) \/Eé
1

© Yo (D)
(E) Not attempted

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.
Choose the correct alternative.

bca _b _aabc_a _caa

(A) acab (B) ccab

(C) cbab (D) bcbb

(E) Not attempted

The 915 Amendment Act of Indian

Constitution was brought in
(A) 2001 (B) 1989
(C) 2000 (D) 2003

(E) Not attempted

11.

12.

13.

14.

15.
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fFafafad 4 9 SH-91 G99 BT R/ncHS

qUrieh & 7

(A) -2 (B) -1

(C) o0 (D) -3

(E) 3anfEa

SHIcTehTdT < I TR | ggelt ¢ e
 gEyiuya B TS oft |

(A) 1855 (B) 1854

(C) 1856 (D) 1857

(E) ITvmfera

sin 90° x cos 0° &1 T &1 & 7

(A) 0 (B) ﬁé

© Yo (D) 1

(E) ITvmfra

frfeiaa s1er sfeet § $9 31/ o< 2
T 3Tk A1 forehed o &9 1 39 59 § feu
T E | TE faehed I |

bca b _ aabc a _ caa

(A) acab (B) ccab

(C) cbab (D) bcbb

(E) 3manfEa

T Gigeme =1 9197 gunya srfufem
IR

(A) 2001 (B) 1989

(C) 2000 (D) 2003

(E) 3manfEa



B

16.

17.

18.

Who is the head of a Gram Panchayat in
Haryana ?

(A)
(B)
C)
)
)

District Collector
Sarpanch

(C) Panchayat Secretary
(D
(E

Block Development Officer

Not attempted

The dimensions of a room are 40 m, 25 m
and 10 m. If it is filled with cuboidal boxes
each of dimensions 2 m x 1.25 m x 1 m,
then the no. of boxes which can be filled is
(B) 2000
(D) 4000

(A) 1800
(C) 8000
(E) Not attempted

Select the correct alternative that indicates
the arrangement of following units in a

logical and meaningful order.
1. Scrutiny

Application

Interview

Job offer

o > 0 b

Joining

1,3,2,4,5
2,4,1,5,3
3,1,5,4,2
2,1,3,4,5

(A)
(B)
(€)
(D)

)

(E) Not attempted

16.

17.

18.
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FRETOT U YR < GRE i BT 8 7
(A) Toremefiar

(B) T

(C) U= gfad

(D) @g faepm At

(E) 3romfya

Teh AL Rl TR 40 m, 25 m 3T 10 m
F1aAsT2m x 1.25m x 1 m =AW a1
TR SRl § W ST ], 91 W AW 9Tl
ST <l T 2
(A) 1800

(C) 8000
(E) 3=

(B) 2000
(D) 4000

Tl forsheq 1 = KL S drfehes 3R
1Y 0 H fraforfaa sergat St sgawen
1 SfiTd e & |

1. gata

2. A

3. ATTHR

4. R0 gEATE

5. e BT

(A) 1,3,2,4,5

(B) 2,4,1,5,3

(C) 3,1,5,4,2

(D) 2,1,3,4,5

(E) TSR



B

19.

20.

21.

22,

23.

A sculpture found at Sugh in Ambala

district of Haryana depicts which of the

following ?

(A) Farmers ploughing fields

(B) Singers and musicians travelling on a
bullock cart

(C) Kings in a battle

(D) Women performing folk dance

(E) Not attempted

The value of 4\/§/272 is

(E) Not attempted

Which number system uses only digits
Oand1?

(A) Octal

(C) Decimal

(E) Not attempted

(B) Hexadecimal
(D) Binary

Complete the following analogy.

8:24::7:32
(A) 5 (B) 8
(C) 10 (D) 6

(E) Not attempted

Pointing to a photograph Lata says, “He is
the son of the only son of my grandfather.”
How is the man in the photograph related
to Lata ?

(A) Brother

(B) Uncle

(C) Cousin

(D) Data is inadequate

(E

~ ~— ~— ~—

Not attempted

19.

20.

21.

22,

23.

CE7G - 25

g % stemen fye @ gu § O 78 U
afd fFrferfaa & & = goiidt 3 2

(A) @A Srddl o

(B) SIS W AT hid T IR Efast
(C) T g | T

(D) THTT I §T Al

(E) 3Tomfya

4302 o1 7 2
(A) 2716
) 28

(E) 3m=nfEa

I GEAT YU shaed 0 3T 1 3Tk hl
ITINT BT & 7
(A) (B) BeTSHS

(D) T

frefTRea Twewar qui shifere |

4::7:32
5 (B) 8
10 (D) 6

Teh TR <l I SRR A Y, A1 ! 2,
‘g8 T <[el % Tehelld o 1 ST B |7 A&
1 few © = o1 o O = GEy § 7
(A) Wi

(B) ==
(C) == WS

(D) AHHRT AT B
(E) 3Tomféa



24.

25.

26.

27.

28.

The decimal form of 12—1 is

(A) 0.018
(C) 0.18
(E) Not attempted

(B) 0.18
(D) Not defined

When was National Bank for Agriculture
and Rural Development (NABARD)
established ?

(A) 1982

(C) 2002

(E) Not attempted

(B) 1987
(D) None of the above

The highest peak of Haryana, Karoh
Peak, is located in which district ?

(A) Karnal (B) Ambala

(C) Yamunanagar (D) Panchkula
(E) Not attempted

In the following question, select the word
from the given alternatives which can’t be
formed using the letters of the given word.

CONSTRUCTION
(A) SUCTION

(C) NOTION
(E) Not attempted

(B) COINS
(D) CAUTION

A can complete a job in 12 days and B can
complete the same job in 18 days. If they
work together, how many days will they
take to complete the job ?

(A) 6 days (B) 8 days
(C) 7.5 days (D) 7.2 days

(E) Not attempted

24.

25.

26.

27.

28.

CE7G -25
%www%
(A) 0.018 (B) 0.18
(C) 0.18 (D) IrufeTiva
(E) 3=nfEa
TS By 3R 7T foehrE de ([TeTE) i
AT fopm o o i g oft ¢
(A) 1982 (B) 1987
(C) 2002 (D) ST T | hIS T
(E) 3
BT 6 TeE S =S, wUE =G,
fra S i fem g 7
(A) HETA (B) &
(C) IYTTHR (D) wegeT
(E) 3t
frefafaa wea = fashed @ @ 98 weg H
ST feu TTu STeg % 37eAT ST ITANT Hih
T ST ST HehaT 7 |
CONSTRUCTION
(A) SUCTION (B) COINS
(C) NOTION (D) CAUTION
(E) ITvmfra
AT 1 ol 12 Tl § QU o wehal & a1

B 3 %l w1 18 Tl o qU KX Hehal 7 |
afe 3 g1 Tk F1Y T HY, B T HH

H 35 fohe e @ 7

(A) 6 e (B) 8fed
(C) 7.5 T (D) 7.2 T
(E) 3Tvmfya



29.

30.

31.

32.

33.

Complete the following analogy.
ACE:FHJ::0QS:

(A) PUT (B) RTU
(C) TVX (D) uwy
(E) Not attempted

Who among the following was a famous
Khayal singer from Haryana belonging to
Gwalior Gharana ?

(A) Amir Khusro

(B) Tansen

(C) Haddu Khan

(D) Bade Ghulam Ali Khan

(E) Not attempted

Central Institute for Research on
is situated at Hisar district of

Haryana.
(A) Tiger (B) Buffaloes
(C) Deer (D) Crocodile

(E) Not attempted

Which Airstrip in Haryana is also called
as Silokhera Airstrip ?

(B) Narnaul
(D) Hisar

(A) Gurugram
(C) Karnal
(E) Not attempted

Which type of language was used in
Second Generation Computers ?

(A) Machine language
(B) Assembly language
(C) High level programming languages
(D) Obiject oriented programming

)

(E) Not attempted

29.

30.

31.

32.

33.

CE7G - 25

freferfea awedar o Hifse |
ACE : FHJ : : OQS :

(A) PUT (B) RTU
(C) TVX (D) UWY
(E) 3=nfEa

frafafiga 5 9 H arfe=r ==t 9
g & e gftg @I T 9 7

ghEmT 1 R gt ugt @i faeiae
gaTs Uel off hET ST ® 7

(A) TRIT™ (B) I

(D) femm

ol Nt o heged § fohd wehR i wrn
T 39T foparm T o ?

(A) TR 9N

(B) 3THAT W

(C) =9 T TUEAT HroTd

(D) 3fssiare SATNTUES T

(E) 3=nfEa



34.

35.

36.

37.

Excavations at which site in Fatehabad
district of Haryana have revealed
pre-Harappan culture ?

(A) Banawali

(B
(C
(D
(E

Kunal
Mittathal
None of the above

~ ~— ~— ~—

Not attempted

Most of the Indian Subcontinent will be
grouped according to Koeppen’s system
under

(A) Af

(B) BSh
(C
(D
(E

Df
Am
Not attempted

~ ~— ~— ~—~

The following table shows population
(in millions) of a city over 5 years. What
is the increase in population from 2016 to
2020 ?

Year 2016|2017(2018|2019 (2020

Population| 15| 18 | 21 | 24 | 2.7

(A) 1 million
(C) 1.5 millions
(E) Not attempted

(B) 1.2 millions
(D) 1.8 millions

Which traditional ornament worn by
married women in Haryana is a silver ring

worn on the toes ?
(A) Payal
(C) Pali

(B) Bichhiya
(D) Jhanjhar

(E) Not attempted

-10-

34.

35.

36.

37.
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BT & HagreTe ool d fohd T W
GeTs | S -§SWT HEH(d 1 AT IAT B 7
(A) SHTEE

(B) UM

(C) T

(D) 3T # § s T

(E) TRt

I HT JUTeAT o FITHN TR STHETET
% SRS WA ! AR fohaT ST
(A) Af

T arfetent 5 a6l § U WL <l SHEEAT
(fuferer #) eriet 8 | 2016 & 2020 a6
e § fha A5 gE 7§ 7

Er] 2016 [ 2017 | 2018 [ 2019 | 2020
SaE | 15 | 18 | 21 | 24 | 27
(A) 1 Tuferm (B) 1.2 faferm

() 15fafemm (D) 1.8 fTaferm

(E) ITofra

gl ¥ foenfza afgansti gra | H
3nferal ® U AfEt 1 ST S TE T S
TAT ST R 7

(A) I (B) ferfean

(C) reft (D) 3R

(E) 3Tvmfya



38.

39.

40.

41.

42,

What does ROM stand for ?
(A) Random Output Memory
(B) Read Only Memory

(C) Ready Open Memory

(D) Random Operations Memory

(E) Not attempted

This protected area contains one of the
last surviving remnants of Delhi Ridge hill
range

(A) Bhindawas Wildlife Sanctuary

(B) Asola-Bhatti Wildlife Sanctuary

(C) Nahar Wildlife Sanctuary

(D) Abubshahar Wildlife Sanctuary

(E) Not attempted

Who among the following was a famous
Urdu poet from Haryana, honored with
the ‘Shamsul Ulema'’ title by British
Government in 1904 ?

(A) Naubhar Sabir

(B) Altaf Hussain Hali

(C) Jaimini Sarshar

(D) Khwaja Ahmad Abbas

(E) Not attempted

Which city in Haryana had the first metro
rail ?

(A) Mahendragarh (B) Hisar

(C) Gurugram (D) Kaithal

(E) Not attempted

The Article 23 and 24 of Indian

Constitution are related to

(A) Right to Equality

(B) Right against Exploitation

(C) Right to Freedom

(D) Right to Freedom of Religion
)

Not attempted

D
(E

-11-

38.

39.

40.

a1.

42,
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N3N, R 8 ?
(A) Teu 38eqe T

39 T &7 | ool wadie goft &
sifem FAfETcae™ a § ¥ T B
(A) TreEmE a=sia sEmes

frafefaa @ @ #F gfemn w1 v gfirg
3¢ YRR o1, 58 fafes awhr g 1904 1
T -3A-IAHT T I < 7S oft 7
(A) TR TR

(B) e EET BTl

(C) Aftrft T

(D) IS 378HE TeSTd

(E) 3m=nfEa

g % fre st § veelt #7e1 W IE
&1 T oft 7

(A) TG (B) feam

(C) TeU™ (D) Y

(E) ITymtyd

AT FT9™ o T 23 3R 24 fhaa
e 8 ?



43.

44,

45.

46.

A salary is increased by 25% and then
20% of the new salary is deducted. If the
final salary is Rs. 12,000, what was the
original salary ?
(A) Rs. 10,000
(C) Rs. 13,000

(B) Rs. 11,000
(D) Rs. 12,000
(E) Not attempted

Which of the following is an example of
an Input Device ?
(A) Printer
(C) Monitor
(E) Not attempted

(B) Speaker
(D) Keyboard

What is the role of the Haryana

Renewable Energy Development Agency

(HAREDA) ?

(A) Managing coal-based power plants

(B) Enforcing the Energy Conservation
Act, 2001

(C) Providing electricity to rural areas

(D) Promoting solar panel imports

(E) Not attempted

Two friends A and B invest in a business
in the ratio 3 : 5. At the end of the year,
they earned a profit of Rs. 40,000. What is
A’s share of the profit ?

(A) Rs. 30,000
(C) Rs. 15,000

(B) Rs. 50,000
(D) Rs. 40,000
(E) Not attempted

-12-
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44,

45.

46.
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T o H 25% i ghg i I & 3R
1 | T A BT 20% I foran Srar 8 |
Ife 3Afam 999 &, 12,000 =, 1 ITEdfeh
AT T AT 7

(A) ®. 10,000 (B) ®. 11,000
(C) &. 13,000 (D) &. 12,000
(E) 3=nfEa

freafefad & @ &9 399 feama &
SR E 7

(A) Trex (B) Tt

(C) AT (OEIELE

(E) ITvmfra

gl Aeftentoiia et foehe T

(T, 0.3TR.3. €11, ) T o= qftrehT 8 7

(A) I MR Soll TIAT BT TSLH
(B) Soft wa1or 1ff=m, 2001 =1 Jardq
(C) T &t H faega Sucted shHT

(D) ER 1 AT <l SGHT

(E) STmfEa

T ASTRBUS @™ H3:5%
31U & frow #a & | 99 % 37 # 3=
%. 40,000 T ATH HART | ATH |

A w1 Tepam T & 7

(A) %. 30,000 (B) %. 50,000
(C) %. 15,000 (D) %. 40,000
(E) 3m=nfEa



47.

48.

49.

50.

51.

Which among the following districts of
Haryana shares its borders with three
States ?

(A) Ambala (B) Panchkula
(C) Yamunanagar (D) Kurukshetra
(E) Not attempted

The famous Ajanta Caves, which consist
of twenty-nine caves, are located in which
Indian State ?

(A) Maharashtra
(C) Guijarat

(E) Not attempted

(B) Madhya Pradesh
(D) Rajasthan

If Rs. 8,000 invested at a compound interest
gives Rs. 1,261 as interest after 3 years,
then the rate of interest per annum is

(A) 25% (B) 10%

(C) 17.5% (D) 5%

(E) Not attempted

Phalgu tourist place is located in which
district of Haryana ?

(A) Kaithal (B) Mahendragarh

(C) Jind (D) Jhajjar

(E) Not attempted

How are computers used in

Communication ?

(A) Through CAD applications

(B) For advertising and home shopping

(C) Via e-mail, video conferencing and
chatting

(D) For managing budgets and payrolls

(E) Not attempted
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47.

48.

49.

50.

51.

CE7G - 25

f=fafga 9 9 gf@mon s sH-a1 fSen
A TSI o G 379 T ErE o B 7

(A) FrsTeT (B) ke
(C) IR (D) FE&
(E) ITvfra

gftrg rerar e, 5 S Terd
et 8, forg yRdlg o | fa 8 7

(A) HENTSE (B) WL G
(C) TSIUd (D) TS&ATH
(E) 3=nfEa

I %. 8,000 I ThalG = & Fram w
T 399 o1 IS o ®9 H %. 1,261 I &l
2, d IS SIS W R 7

(A) 25% (B) 10%

(C) 17.5% (D) 5%

(E) 3=nfEa

g % fopa et O wet] weied T
fRag e

(A) I (B) WRFTE

(C) Sfiq (D) FSS

(E) r9=mfaa

TR T et 1 I Ha foharm ST 2 7

(A) CAD 3TTSRINT o Hea o

(B) Tz 3R gm wiifim & ferg

(C) 3-Td, =ifea swipifam 31K =fén &
ey o

(D) SS1¢ 3R U & J&EF & Iy

(E) 3Tomfya



52.

53.

54.

55.

The largest concentration of green house
gases in the atmosphere is

(A) Methane

(B) Chlorofluorocarbons

(C
(D
(E

Carbon dioxide

Nitrous oxide

)
)
)
) Not attempted
IfA:B=3:2andB:C =3:5, then
A:B:Cis

(A) 9:6:10

(B) 10:9:6

(C) 6:9:10

(D)

(E)

None of the above
Not attempted

Which canal system of Haryana
originates near Nangal and irrigates Sirsa
and Hisar ?

(A) Eastern Yamuna Canal

(B
C
D
(E

) Gurugram Canal
(C) Bhakra Canal
(D) Jawaharlal Canal
) Not attempted

A person incurs a loss of 10% by selling
a watch for Rs. 450. At what price should
the watch be sold to earn 10% profit ?
(A) Rs. 500
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52.

53.

54.

55.

CE7G -25
qIgFed § I &9 191 6l gey §
Higdl &

(A) HEe
(B) FAFARIIET

FITOM <1 S -T T8 JuTeft TTet <
e o freperdt g 3 e 3 feam =t
Tofera st 8 72

Teh SAfekd ohl Teh TSI 450 T H S=+ W
10% 1 &1 It & | 10% A1 HAH &

fou wt w1 fope shimd ox = ST =R ?
(A) . 500

(B) %. 600

(C) ®. 550
(D) &. 750

(E) 3Tomféa



56.

57.

58.

59.

60.

Which city of Haryana houses Asia’s best
dairy research institute, National Dairy
Research Institute (NDRI) ?

(A) Rohtak (B) Hisar
(C) Karnal (D) Panipat
(E) Not attempted

Harsha transferred his capital from
Thanesar to

(A) Pataliputra
(C) Delhi

(E) Not attempted

(B) Kannau;j
(D) Mathura

Slash and burn agriculture, commonly
called as Jhum cultivation practiced in the
(A) North-eastern States of India

(B
(C
(D
(E

) North-western States of India

) Coastal Kerala

) None of the above

) Not attempted

Who was the first ruler to establish Hisar
as a major city in Haryana ?

(A) Babur

(B) Firoz Shah Tughlaq
(C) Sher Shah Suri
(D) Akbar

(E) Not attempted

A person travels 120 km in 4 hours. If he
increases his speed by 10 km/hr, how long
will it take him to travel same distance ?
(A) 2 hours (B) 2.5 hours

(C) 3 hours (D) 3.5 hours

(E) Not attempted
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56.

57.

58.

59.

60.

CE7G-25
TR 5 HeE 3T SA0 FIEUH HEIH,
T 5 fed sReer (W 2am.aTE. )
g & frg TR g R g 7
(A) T (B) feam
(C) HHTA (D) 9rua
(E) r9=mfaa
Y 9 19 T U 8 SR Eaia
(A) dTeferg (B) el
(C) faeeht (D) mIT
(E) 3ranfEa

T Ug o Py, T e woem et
gl AT 8, hal Jetd & ?
(A ) WRA o IT-Te T

(B) YRA & IT-UfT=fl T

(C) T A

(D) U | & HrE T
(E) 3ranfEa
g & fEam 1 U geT et % €9 o
TTfUd i 1T T8l ITEeh hid AT ?
(A) st

(B) TSt 38 qiTeteh
(C)mga

(D) 3AhsiT

(E) 3anfEa

Teh =faq 4 5 § 120 Tl <Y aImm wtan
2 | afe a7 31 T 10 feet /= s@
T 7, A 99H gt a9 e | 3 foRa
I A 7

(A) 2% B) 2.5%¢
C) 3 D) 3.5%¢
(E) 3anfEa



61.

62.

63.

64.

Where is the Indo-Israel Horticulture

Project located in Haryana ?

(A) Gharaunda (B) Uncha Majra

(C) Panipat (D) Sirsa

(E) Not attempted

The author of the important musicological
text ‘Sangita Ratnakara’ is

(A) Pandit Haridas

(B) Tansen

(C) Sarangadeva

(D) None of the above

(E) Not attempted

Which dance form of Haryana is named

after an ornament worn on the forehead
by young married women ?

(A) Ghoomar (B) Jhumar
(C) Loor (D) Gugga dance

(E) Not attempted

A shopkeeper marks an item at Rs. 2,000
and gives successive discounts of 15%

and 10%. What is the final selling price of

the item ?
(A) Rs. 1,530 (B) Rs. 1,500
(C) Rs. 1,510 (D) Rs. 1,520

(E) Not attempted
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61.

62.

63.

64.

CE7G - 25

R # gel-SoREd ST qRESET
el fr 2 7

(A) =ier (B) =1 A
(C) urua (D) Tz
(E) JT9=mfea

HEcul FitaeeE I G T

(A) Ufed gle™

(D) 3w & & IS T
(E) 3m=nfEa

BNATON & -8 T Bl THH Il
foanfea nfgensti g0 MY W vgd W a1
Ted T fepar T R 7

(B) =
(D) T

Teh GhMGR Teh %] T %. 2,000 3ifehd
AT 8 AT 15% d 10% hi Shieh T <al
2 | 9% 1 3ifem fasha goa = B0 ¢

(A) ®. 1,530 (B) %. 1,500
(C) ®. 1,510 (D) %. 1,520
(E) 3=nfEa



B

65. Which of the following diagram indicates

66.

67.

68.

the best relationship between German,
French, Languages ?

O

Which Amendment of the Indian
Constitution introduced Fundamental
Duties ?

(A) 44™ Amendment

() 87" Amendment

(C) 42" Amendment

(D) None of the above

(E) Not attempted

(A)

(©)

@ ©

(E) Not attempted

Haryana ranked among the bottom five

States in which report released by

NITI Aayog ?

(A) State Investment Index 2025

(B) Fiscal Health Index 2025

(C) Sustainable Development Goals
(SDG) Report 2025

(D) Ease of Doing Business Index 2025

(E) Not attempted

Which of the following is true for
x=3-27 2

(A) x=3 (B) x=-3
(C) x=0 (D) Undefined
(E) Not attempted
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65.

66.

67.

68.

CE7G - 25

FfcTiad o § -9 @ 5, %
3R WISt o s gaiaq 9y Sidr 8 ¢

(E) 3=nfEa

TR Higa™ o forg genem 3 Hifers
Shaeal bl U foham ?

(A) 44 91 GeMEH

(B) 87 & TN

(C) 42 |IeH

(D) 3ugH  H 1S T

(E) TR

Fifa s g I wE- e 0
giemon <1 3ifew aiw Tsat § e fen
TR 7

(A) T=T FHaw1 F=hish 2025

(B) TSIV T gehlsh 2025

(C) Taa foreprma o1& (wq.€Y.5ft.) T
2025

(D) 39 3AT® T3 fored 29 2025
(E) ITvmfra

x = Y-27 % feru fy=faRaa o 4 -
AR ?

(A) x=3 (B) x=-3
(C) x=0 (D) IrufeuTia
(E) ITvmfra



CE7G - 25

B

69. In the following question, a statement 69. = ﬁ‘«’Q T g9 o T 31T 2 fosd FQ’Q Bl
followed by 2 conclusions is given. 3\ ar udl o ﬂﬁ S few Tu T
Choose right conclusion which logically ’

qTfeheh 9 & ITLE AT & |
follows the given statement. 8
Statement : Morning walks are good for hUT : I 1 & T % o =
health. Il 2 |
Conclusions : |. All healthy people go freepd © 1. Tft TRy @ gag f MW
for morning walk. 4 @ |
[I. Evening walks are I1. ST <61 B BT § |
harmful.
(A) hael TIshY | 3TTET0T AT B
(A) Only conclusion | follows
(B) Only conclusion Il follows (8) Il 31 E
(C) Both I and Il follow (C) I 3T Il ST STTHT hLd &
(D) Neither | nor Il follows (D) 9 ar T JETOT hIdl 2
(E) Not attempted (E) ST

70. In which year Social Forestry Scheme 70. EREON 4 gETteIe anfieh! T e 9y
was started in Haryana ? NS $1 TS oft 7
(A) 1982 (B) 1980 (A) 1982 (B) 1980
(C) 1996 (D) 1999 (C) 1996 (D) 1999
(E) Not attempted (E) 3t

71.  Which major river forms Haryana’s 71. ®E-H U ! ERATON <l et HiHT
eastern boundary ? ST B 7
(A) Sutlej (A) |as
(B) Yamuna (B) I
(C) Ghaggar (C) =R
(D) Saraswati (D) HTEel
(E) Not attempted )

Y -18-




B

72.

73.

74.

75.

Consider the following statements about
Primary memory :

Statement 1 : Random Access Memory
(RAM) is volatile, as long as the power
is supplied to the computer, it retains

the data in it. But as soon as the power
supply is turned off, all the contents of
Random Access Memory (RAM) are
wiped out.

Statement 2 : Random Access
Memory (RAM) is usually referred to as
main memory and it is faster than the
secondary memory or storage devices.

Which of the statements given above
is/are correct ?

(A) Only statement 1 is correct

(B) Only statement 2 is correct

(C) Both statements 1 and 2 are correct
(D) Both statements 1 and 2 are incorrect
(E) Not attempted

What is the value of 10— (2x 3) +8 + 2 ?
(A) 8 (B) 6

(C) 5 (D) 7

(E) Not attempted

Which of the following is not true for a

parallelogram ?

(A) Opposite sides are equal.

(B) Opposite angles are equal.

(C) Opposite angles are bisected by the
diagonals.

(D) Diagonals bisect each other.

(E) Not attempted

What is the historical name of Markanda
river in Haryana ?
(A) Varuna

(C) Saraswati

(E) Not attempted

(B) Sharana
(D) Aruna
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72.

73.

74.

75.

CE7G - 25

Tufe 7 o 91§ FEfaRad seAt
formm HifSTw

HUA 1 : WSH TE T (AR.U.TA. )
HFER 2, e qoh R I fosfett il g
1 Il B, d9 deh I8 TIH T hl §41C
TEdl 3 | Al S & forareht <1 ammafd sg
Bl S 2, Ve Y T (TR, )
it fower-eg fire ot 2 |

HUA 2 : egH THHY T (AR.T.H. ) I
AR W T HARY < €9 § Fehid o
AT & 3R I8 fedias amd I &
feamga <1 gt & o Bl B |

S # & wH-H1/H Y T 2/E 7
(A) had HIH 1 98 2

(B) haeT YT 2 TEl &

(C) o 1 3R 2 SHi el &

(D) o 1 3R 2 SHI @l T &

(E) 3=nfEa

10-(2x3)+8+2H AH AT & ?

(A) 8 (B) 6
(C) 5 (D) 7
(E) 3m=nfEa

THIR =gy o fore fmfotfaa § & -1

qc T8l 8 ?

(A) THE STE SR Bl € |

(B) THIE@ IV ST B ¢ |

(C) Tareputt g1 ¥V @ hivT a9 fawiioa
B E |

(D) ferpol weh e b1 T forfora e 2 |

(E) 3m=nfEa

RO T Aeher AE1 o1 UfaTies A
R 7

(A) =T (B) =wom

(C) aT&adt (D) 3T&UT

(E) 3=nfEa



76.

77.

78.

79.

80.

CE7G - 25

English Language

Choose the correct meaning of the
following idiom or expression.

Piece of cake.

(A) A job, task or other activity that is
easy or simple

Join a popular trend or activity
Would never like to do something
Feeling slightly ill

Not attempted

(B
(C
(D
(E

~— — — —

Choose the correct option to form a
meaningful sentence.

to the / bring / car park / the money
(A) Bring to the car park the money.
(B) Car park to the bring the money.
(C) Bring the money to the car park.
(D) The money bring to the car park.
(E) Not attempted

Choose the correct antonym of the
following word.

Ascend
(A) increase (B) descend
(C) expand (D) arrive

(E) Not attempted

Choose the correct answer after making
necessary corrections.

| am angry on you.

(A) I'am angry for you.

(B) I'am angry in you.
(C) I am angry with you.
(D) I am angry to you.
(E) Not attempted

Choose the correct indirect form of the
given sentence.

His friend said to him, “Did | not warn you

against this beforehand ?”

(A) His friend asked him did he not
warned him against that beforehand.

(B) His friend asked him if he had not
warned him against that beforehand.

(C) His friend asked him if he did not
warned him against that beforehand.

(D) His friend said to him if | had not
warned you against that beforehand.

(E) Not attempted
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81.

82.

83.

84.

85.

Choose the correct synonym of the
following word.

Pause
(A) Start (B) Safe
(C) Staff (D) Stop

(E) Not attempted

Give one word substitute for the following.
The study of plants is called

(A) Bacteriology (B) Astrology

(C) Sericulture (D) Botany

(E) Not attempted

Choose the alternative which best expresses
the meaning of the given idiom/phrase.

Like a sitting duck
(A) Lazy

(C) Sleepy

(E) Not attempted

(B) Fat
(D) Ignorant

Choose the correctly spelt word.
(A) Personnel (B) Perssonal
(C) Personel (D) Parsonnel
(E) Not attempted

Choose the correct active/passive form of
the given sentence.

She handles all tasks efficiently.

(A) All tasks are handled efficiently by
her.

(B) All tasks were handled efficiently by
her.

(C) All tasks have been handled
efficiently by her.

(D) All tasks are being handled efficiently
by her.

(E) Not attempted



86.

87.

88.

89.

TG, HURGAT, YT (e e

19T o I9ET 2 |
(A) T
(B) %
) f&=d
(D) ST
(E) 3Tt

“feR qerd € 3Tt USAT’ 39 Arehifad 1
e Fd R 7

(A) T Bl THIUT STTFIIhdT Tal |

(B) ST IR BId & fared 3m e |
(C) fomm =1 & ™ & M |

(D) 1=t o | 3T 07 BT |

(E) 3Tsmted

e’ T Toum weg 7 | Fefafaa wegi
T ¥ 3HH! TE qeud I16g IR fofau |

(A) & (B) T
(C) =T (D) T
(E) 3Tt

90
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92.

93.

94.
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. ‘A ol SR | e ?’
T v ¥ fefafad g 7@ 4 @ @@
s8I i AR Tt |

(A) FIT-FT

(B) U-TTY

(C) HiR-¢R

(D) SFTE-T

(E) 3manfEa

g 37 WA I ea] bl 91 HEd B ?
RRIPEIEIRIC

(B) ferci wrsg

(C) T wIsq

(D) 3T & g &

(E) Rt
FrafaRea wegi o @ “Td’ =1 T wIsg
T |
(A) <@

(C) &ud
(E) 3=nfEa

(B) fazau
(D) gHuT

I
(B) 3xA
(D) 3TTea

‘AL TeE HT T A
(A) =

(C) I

(E) 3Tvmfya

‘St <ftd et &1’ 38 AP B 7
(A) 3¥did

(B) g™

(C) geiw

(D) AT

(E) 3manfEa



B

95.

96.

97.

“Heaeh BEl 4 ey forgad 2 17 U8
T fope Tsham oh1 Il 2 7

(A) gmET= (B) IoYh
(C) eI (D) 3Tuf
(E) 3=nfEa

I TS AT |” Th AU 7, 39 Hal
F1ef o fafim |

(A) ET BTG & |

(B) T $<hR HET |

(C) F® & T &M |

(D) Sgd fRreT 81 ST |

(E) 3TfEd

CE7G - 25

98. WIIATHh TRl whl BIgH Tl TN &

99.

100.

eI o 37d H oo =1 TR
fopam ST 2
(A) T

ST foreryor fopeft =afer, smoft srean swq A1
T U e o=t 1 Y U, 3=
_ foRmu wEd § |

(A) TTHTUETES

(A) < (B) T
(C) 9f& (D) =]
(E) ITvmfra
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